
Tabla 1: Transformada Z de señales básicas

Señal Transformada ROC

δ[n] 1 Toda z

u[n] 1
1− z−1 |z| > 1

−u[−n− 1] 1
1− z−1 |z| < 1

anu[n] 1
1− az−1 |z| > a

−anu[−n− 1] 1
1− az−1 |z| < a

nanu[n] az−1

(1− az−1)2 |z| > a

−nanu[−n− 1] az−1

(1− az−1)2 |z| < a

(n+ 1)anu[n] 1
(1− az−1)2 |z| > a

cos(ω0n)u[n]
1− cos(ω0)z−1

1− 2cos(ω0)z−1 + z−2 |z| > 1

sen(ω0n)u[n]
sen(ω0)z−1

1− 2cos(ω0)z−1 + z−2 |z| > 1

rncos(ω0n)u[n]
1− rcos(ω0)z−1

1− 2rcos(ω0)z−1 + r2z−2 |z| > r

rnsen(ω0n)u[n]
rsen(ω0)z−1

1− 2rcos(ω0)z−1 + r2z−2 |z| > r

an (u[n]− u[n−N ]) 1− aNz−N

1− az−1
|z| > 0


